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MATHEMATIK	
  3.	
  Klassen:	
  Lösungen	
  
	
  

	
  

1.	
  	
  a)	
  25x	
   b)	
  –2x	
   	
   c)	
  	
  	
  	
  	
  

� 

7a3	
   	
   d)	
  
	
  	
  	
  	
  

� 

3a
4
	
  

2.	
  a)	
  x	
  =	
  121.25	
   b)	
  x	
  =	
  9	
  	
   c)	
  x	
  =	
  18	
   d)	
  x	
  =	
  11	
  

	
  

3.	
  	
  a)	
  	
  	
  	
  	
  

� 

16.82 + 12.42 = 20.8806 	
  	
  
	
  	
  	
  	
  

� 

20.8806
16.8

= 1.2429	
  	
  24.29%	
  

b)	
  	
  	
  

� 

360°− 108°−72°− 126° = 54°	
  	
  
	
  	
  

� 

540
360

⋅54 = 81 	
  	
  	
  Leichtathletik	
  betreiben	
  81	
  SchülerInnen.	
  

	
  

4.	
  a)	
  	
  	
  	
  	
  

� 

365⋅24 ⋅60⋅40⋅0.2= 4204800	
  ml	
  	
  4204.8	
  l	
  	
  4.2048	
  m3	
  	
  Fr.	
  3.45	
  

b)	
  x:	
  Gewicht	
  des	
  Kopfes;	
  x	
  +	
  8:	
  Gewicht	
  des	
  Rumpfes;	
  
	
  	
  	
  	
  

� 

1
2
2x + 8( ) :	
  Gewicht	
  des	
  Schwanzes	
  

	
  Gleichung:	
  
	
  	
  	
  	
  

� 

x + x + 8+ 1
2
2x + 8( ) = 46 	
  	
  x	
  =	
  11.33	
  kg	
  

	
  

5.	
  a)	
  
	
  	
  

� 

12⋅9 ⋅12− 1
2
⋅9 ⋅12⋅3= 1134 	
  	
  1134	
  cm3	
  

b)	
  	
  	
  

� 

2⋅9 ⋅12+ 9 ⋅12+ 122 + 92 + 12⋅9+3⋅ 122 + 92 = 702	
  	
  	
  702	
  cm3	
  

c)	
  
	
  	
  	
  	
  

� 

4a ⋅3a ⋅b− 1
2
⋅4a ⋅3a ⋅a = 12a2b− 6a3	
  

	
  

6.	
  a)	
  	
  Verkleinerte	
  Konstruktion	
  rechts:	
  

b)	
  Lösung:	
  B’(41/10)	
  

Mögliche	
  Skizze:	
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7.	
  a)	
  	
  	
  	
  	
  

� 

x2	
  	
   b)	
  	
  	
  

� 

10012 − 10002 = 2001	
  

c)	
  	
  	
  

� 

1000+ 999+ 998 = 2997 	
  

d)	
  untere	
  Lage:	
  18	
  Tropfen;	
  obere	
  Lage	
  9	
  Tropfen	
  

Jede	
  Kugel	
  in	
  der	
  oberen	
  Lage	
  berührt	
  drei	
  Kugeln	
  in	
  der	
  unteren	
  Lage:	
  

	
  	
  	
  

� 

18+ 9+ 6 ⋅3= 45 	
  	
  45	
  Tropfen	
  

	
  

8.	
  Das	
  Trapez	
  ist	
  gleichschenklig.	
  

	
  	
  	
  	
  

� 

AB = 40 2 = 56.57 	
  ;	
  	
  	
  	
  	
  

� 

CD = 23⋅ 2 = 32.53;	
  	
  	
  	
  	
  

� 

BC = AD = 402 + 172 = 43.46 	
  

Höhe	
  des	
  Trapezes:	
  
	
  	
  	
  	
  

� 

h = 1889− 1
2
⋅17⋅ 2

⎛ 
⎝ ⎜ 

⎞ 
⎠ ⎟ 

2

= 41.77	
  

Flächeninhalt:	
  
	
  	
  	
  	
  

� 

AB + CD
2

⋅h = 56.57+32.53
2

⋅41.77 = 1860.73	
  	
  1860.73	
  cm2	
  

(Rundet	
  man	
  nur	
  das	
  Schlussresultat	
  auf	
  zwei	
  Stellen	
  nach	
  dem	
  Komma,	
  dann	
  lautet	
  es	
  :	
  1860.63	
  cm2.)	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  


